| Efficiency vs Dxy |

0.02F
<
S [
»018
>

@016}

i

eff

0.012F

0.01F
0.008F
0.006F
0.004F
0.002F

..............

..........................................................

OJ--\-Q_I 1

Rati

0.95

it 1880

—-25

~30-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

Fit_XiMinusNOPU_NEWdefault_specPLess1

Fit”_XiMinusNOPU_NEWdefault_specPLess2
Fit_XiMinusNOPU_NEWdefault_specPLess3

—a— D

_ —— D

| Efficiencyvs Dz | |—=—1B
—_—D

M—MRETe_XivimusNOPOew-towpt
mk
mk
mk
mk

M
M
M
M

nND.02
S

..............

“mkFit"XiMinusNOPU™NEWdefault_specPLess4

......................................................

OJ--LQ_IIIIiIIIIillllillllillllillll

10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


